2. Victoria can finish typing an essay in five hours while Jenmy cantypethe.sameessaysineightshours. How
long will it take them to type the essay if they work together? T
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1. A train travelling nonstop to its destination makes the trip at an average speed of 72 km/h. On the FeturMrip,

the train makes several stops and §'onlyiabléttoraveragesd8skmyh. If the return trip takes two hours longer
than the initial trip to the destination, then what is the travel time each way?

Salution

Riat of Destinadion
'i?@rtrw —=> 7R km/h <R km /) \{
o g q

Time To destivation —> ¢ hours (ol 15 unkown )

Rdum ﬁ”;)o Eime ——=> L+ hours

\/ = Ol K d="7XT ("iLD Cfﬁ’ﬁ&ma““%}
"t h |
it 3 J= 4B Creturn brip)

Since %,‘k& resdur m «1—}/{)0 oh'g';amug_ e@ua\g Jhe distance +o
%/{JL r7{€5‘7'/ma7[}‘om)

NN
. '7;2% = Lﬁi(‘é’% ZU
,’, 7&-[- il{g—f‘fc((o
A4t =96
LA = =g (i) Mp o destigtia)
a" -z;rf;_z = /—,[-{‘2 :6 (VQY[M'VH %VIP)

The il 'h/fr}g 1o 1 he 0{63”})’14&%0% ‘JOO;f [’F}’
angl The rﬂ*)wm WLV{)& {ook ¢ b



2. Diophantus of Alexandria was a Greek mathematician who lived between 200 AD and 300 AD. He was a
child for one-sixth of his life, a youthwonone=tw&lfth of his life and a bachelor for one-seventh more. Five
years after he married, his son was born. Diophantus’ son died ﬁ)ur years before his father at half his father’s
final age. How old was Diophantus when he died?
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3. Basmati rice costs $4.50/kg while wild-sicecosiss$5=0fkg. In what ratio should the basmati rice be mixed
with wild rice to create a blend that costs $5.00/kg?
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